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Phys 2110, Section 5
Quiz #3 — Fall 2001

1. A 1.00 kg mass starts at a height of 0.550 m and slides
down a frictionless ramp onto a horizontal surface which has

one rough spot of length 0,600 m and coefficient of kinetic N
friction 0.300. After passing over the rough spot it compresses 3 7
a horizontal spring with force constant 510 N/m. s /
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b) When the mass has (momentarily) come to rest against
the spring, by how much is the spring compressed?
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¢) The spring propels the mass back over the rough spot and
back up the ramp to some new (smaller) maximum height ', T
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2. A 2.0 kg mass slides on a frictionless one-dimensional

track with a speed of 2.50% Suddenly it explodes so that af- 2.50%
terwards a section of mass 0.500 kg is moving in the opposite —
direction with speed 0.300%. The remaining section has mass 700 h_.rl
1.500 kg. : 1
a) What is the final velocity of the 1.500 kg section?
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b) How much energy was released in the explosion?
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You must show all your work and include the right units with your answers!

g=983% fio= ¥ W = Fscos¢

K = Imo? Uirar = Gy Uspring = 3k AFE = Wi

p=mv P=5p, Isolated system, P;=P;



